prospetti

scala 1:50

N 8)
=
3
(o]
||||| A | I |
<
||||| 1 e ___%
e
3
™

||||| || e

[[[[[[ A e PR,
8

||||| ]
o

lllll y,llrllrlIlllll[llllll{llllll&,
5

||||| R
8

||||| e
o

||||| x|||||||||||||||||||||||||||||J.

S @ 8)

@ ||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||| -
=]
=t

o e =

e B Y e s B S
&
g

@. ........... U NG ||| [ | || U | [Remae———
&
(o]

@. 1111111 egronel el vrsalilras s upens g i cnpgenimpigs sgpsens e pasnoper papees by ppeora pps s gy
3
o

@HHHH-HHHHHHHHHHHHHHHHHHHHHHHHHHHW

o> 3

%HHHHHHHHHHHHHHHHHHHHHHHHHHHH-HHHHHHW
%,.

@. |||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||

= 2
g

@ |||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||
3
g

@. ||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||

10,94

+4.07

’

+3.62

b

0.00
N

+4.07

y

+3.62

"

[To]
b
(]
Te]
S
b o
<
Pe
o
||||||| &
0
lllllll =i
[To]
o]
o
[To]
Q
-
w0
2
o
o
©
o™
~
o
o
o
o™
To]
o,
o
o
N
o
=X
o
o
|||||||| I~
sl
||||||||| —t
N~
<
o 1
o
||||||||| P
= e
||||||||| = ~
[To]
o
o
o
N
o™
Te]
4!.
e i

10,92




